
SAP ABAP table ROI0_REL_MM_DATA {IS-OIL: Relevance data fields for MM Documents}

ROI0_REL_MM_DATA

BUKRS [CHAR (4)]

LIFNR [CHAR (10)]

EKORG [CHAR (4)]

EKGRP [CHAR (3)]

KUNNR [CHAR (10)]

MATNR [CHAR (18)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

MATKL [CHAR (9)]

BWTAR [CHAR (10)]

BWTTY [CHAR (1)]

MTART [CHAR (4)]

BSTAE [CHAR (4)]

OIC_MOT [CHAR (2)]

MBRSH [CHAR (1)]

PSTYP [CHAR (1)]

INCO1 [CHAR (3)]

RESWK [CHAR (4)]

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 ROI0_REL_MM_DATA-KUNNR = KNA1-KUNNR 

0..N

0..N

LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

 ROI0_REL_MM_DATA-LIFNR = LFA1-LIFNR 

0..N

0..N

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 ROI0_REL_MM_DATA-MATNR = MARA-MATNR 
0..N

0..N

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 ROI0_REL_MM_DATA-BUKRS = T001-BUKRS 
0..N

0..N

T001L

MANDT [CLNT (3)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

 ROI0_REL_MM_DATA-LGORT = T001L-LGORT 
0..N

0..N

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 ROI0_REL_MM_DATA-RESWK = T001W-WERKS 

0..N

0..N

 ROI0_REL_MM_DATA-WERKS = T001W-WERKS 0..N

0..N

T023

MANDT [CLNT (3)]

MATKL [CHAR (9)]
 ROI0_REL_MM_DATA-MATKL = T023-MATKL 0..N

0..N

T024

MANDT [CLNT (3)]

EKGRP [CHAR (3)]

 ROI0_REL_MM_DATA-EKGRP = T024-EKGRP 
0..N

0..N

T024E

MANDT [CLNT (3)]

EKORG [CHAR (4)]

 ROI0_REL_MM_DATA-EKORG = T024E-EKORG 

0..N

0..N

T134

MANDT [CLNT (3)]

MTART [CHAR (4)]

 ROI0_REL_MM_DATA-MTART = T134-MTART 

0..N

0..N

T137

MANDT [CLNT (3)]

MBRSH [CHAR (1)]

 ROI0_REL_MM_DATA-MBRSH = T137-MBRSH 

0..N

0..N

T149C

MANDT [CLNT (3)]

BWTTY [CHAR (1)]

 ROI0_REL_MM_DATA-BWTTY = T149C-BWTTY 

0..N

0..N

T149D

MANDT [CLNT (3)]

BWTAR [CHAR (10)]

 ROI0_REL_MM_DATA-BWTAR = T149D-BWTAR 

0..N

0..N

T163

MANDT [CLNT (3)]

PSTYP [CHAR (1)]

 ROI0_REL_MM_DATA-PSTYP = T163-PSTYP 

0..N

0..N

T163L

MANDT [CLNT (3)]

BSTAE [CHAR (4)]

 ROI0_REL_MM_DATA-BSTAE = T163L-BSTAE 

0..N

0..N

TINC

MANDT [CLNT (3)]

INCO1 [CHAR (3)]

 ROI0_REL_MM_DATA-INCO1 = TINC-INCO1 

0..N

0..N

TVTR

MANDT [CLNT (3)]

VKTRA [CHAR (2)]

 ROI0_REL_MM_DATA-OIC_MOT = TVTR-VKTRA 

0..N

0..N


